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Name: __________________________________



1
Which is an equation of the line of symmetry for the parabola in the accompanying diagram?

[image: image1.png]



	1)
	[image: image2.png]




	2)
	[image: image3.png]




	3)
	[image: image4.png]




	4)
	[image: image5.png]






2
Which is the equation of the axis of symmetry of the graph of the equation [image: image6.png]


?

	1)
	[image: image7.png]




	2)
	[image: image8.png]




	3)
	[image: image9.png]




	4)
	[image: image10.png]






3
For which quadratic equation is the axis of symmetry [image: image11.png]


?

	1)
	[image: image12.png]—x* 4+ 3x+5





	2)
	[image: image13.png]x4 bx+2





	3)
	[image: image14.png]y=x'+6x+3





	4)
	[image: image15.png]y=x'+x+3







4
An equation of a parabola that has [image: image16.png]


 as its axis of symmetry is

	1)
	[image: image17.png]2 -dx+1






	2)
	[image: image18.png]2 -2x+3






	3)
	[image: image19.png]x4+ 8x-3






	4)
	[image: image20.png]2+ 4x-7








5
What is the minimum point of the graph of the equation [image: image21.png]2%+ 8x+9




?

	1)
	[image: image22.png]




	2)
	[image: image23.png]




	3)
	[image: image24.png]




	4)
	[image: image25.png]






6
What are the coordinates of the turning point of the parabola whose equation is [image: image26.png]Azl



?

	1)
	[image: image27.png](-2,-11)





	2)
	[image: image28.png]




	3)
	[image: image29.png]




	4)
	[image: image30.png]






7
What is the turning point, or vertex, of the parabola whose equation is [image: image31.png]


?

	1)
	[image: image32.png]




	2)
	[image: image33.png]




	3)
	[image: image34.png]




	4)
	[image: image35.png]






8
If the equation of the axis of symmetry of a parabola is [image: image36.png]


, at which pair of points could the parabola intersect the x-axis?

	1)
	(3,0) and (5,0)

	2)
	(3,0) and (2,0)

	3)
	(3,0) and (1,0)

	4)
	(-3,0) and (-1,0)



9
Point [image: image37.png]


 is a point on the graph of the equation [image: image38.png]2 -4x+3




.  When point A is reflected across the axis of symmetry, what are the coordinates of its image, point [image: image39.png]


?

	1)
	[image: image40.png]




	2)
	[image: image41.png]




	3)
	[image: image42.png]




	4)
	[image: image43.png]
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8
ANS:
3

The axis of symmetry of a parabola intersecting the x-axis at two points goes through the midpoint of the line segment connecting those two points.  The midpoint of (3,0) and (1,0) is (2,0).
REF:
080912b

9
ANS:
4

The axis of symmetry of [image: image51.png]y=2-4x+3



 is: [image: image52.png]


  The reflection of point A(1,0) over the line [image: image53.png]


 is point A’(3,0).
REF:
060908b
